BEpT 102 £ 2 0 (2 iEHE Y IR £

- BT H OB
iz | Rijcbvaf | wEL XK
AL RECRS)EH | g | Boe i k| HH2fii
- R 42,028 1,549 40,479
LA ) 37,488 860 36,628
¥ = R 6,336 0 6,336
A = 11,292 1 11,291
fﬁ\; "2; V’ NN
(101.1.1 4= ¢ & » £ = ) 528 0 528
Wogere s 0 2 410 5015
(BETERYr FHILH)
Boonoa £ 97,672 100,277

WL T I F RECRT R RN S 97,6724 > 5100 # 11 7 26 p RS EITER
FAEE Y e :»ﬁi‘ £ 24104% > L EATAARE MMM L3 5015 4 > TR ER 2R
P73 £ 5 100,277 15 (97,672-2,410+5,015) -

v Bk B b

WeppT iz 8 p 85 # RAz s TR E TER R o AL Y
ATEH B o SN ET R AR 1;‘7“#’]4 g TR ok fs o U R
A FEK S TR PES R AL KRB R MY RE (MDA)
& WEHFNp Tl > WFEFRIFTRBEL D -



